ENGLISHLANGUAGE

Directions (1-8) ; Rearrange
the given alx sentences/group of
sentences m)l (Bl! {Clo [D)l [E] and
(F} in a proper sequence 80 as to
form a meaningfisl paragraph and
then answer the given questions.

{A) But when the poor man came
upon the bag of gold coins, he
took it to the reasury, think-
ing #t may be someone's life

savings.

(B) Once there broke ot a big de-
bate in the court of the king
on whe was more honest.
would it be a rich man or a
POOr one?

(C) When the rich man found the
bag of gold colns he took it,
thinking it o be 3 blessing
from God

{D) The Prime Misster then pre-
sented the outcome of the ex-
periment to the king saying,
‘Honesty 1s not an outcome of
one's wesalth or Jack thereof,
1t is ameasure of a person one
ts.’

(E} Many of the courtiers felt that
the rich were more Hkely tobe
honest as they had sufficient
wealth to fulfil their needs,
However the Prime Minister
disagreed and set out to prove
his point. .

{F) He toak sorne gold coins from
the treasury and- put them
inio two smel! bags- one bag

; Was placed in the path of a

* rich man and the other in the
path of a poor one.

1. Which of the following shanld
be the FIFTH sentence after
the rearrangement?
nNa @B

3c YE
{5l F

e
i —
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2. Which of the following should
be the S8IXTH (LAST) sen-
tence after the rearrange-

ment?
MmA. 2) B
3D @E
B F
3. Which of the following should
be the THIRD sentence after
the rearrengement?
(1a {2} B
31 c 4) D
G F
4. Which of the following should
be the SECOND sentence af-
ter the rearrangement?
(A 2B
3¢ 4B
oF

5. Which of the following should
be the PIRST sentence after

the rearrangement?
ma 2B
B)D (4 E
B} F

Pirections (6 - 10) : In the
following questions, each sentence
has a blank, indicating that
Something has been omitted.
‘?&o&sw; t:'(:]l]’d for the blfank

£ meaning o
aenrtence as a whole, the
.8 Timry was 2 tiny squirre] who
was locked in a hollow tree for
" e, TIUALS.
(n stealing
- (2) div

(3) Kdna

(1) robbed

{5) robbery

7. While Jojowas busyeaﬂngan
lce cream, Karan S -
water balloon at hipy,

(1) fire

(3) casting

(3) stopped

(4) threw

(5) fling

8. The capital of Vijayanagar Wy

by King Raman.
{1) empower

{2} abducting ‘

{3} worship i

{4) ruled |

) oarone dectded hotélk[!

8. A young man decide 3

thg Princess as his wife buf

to give up his habit ¢f

travelling across the globe, |

(1) never [

{2) neither :

8) refused !

{4) forced ]

{5) thinking ,

10. Delnaz was an evil motherwhu;

wantedtoget __ _ of her

step daughter. i

(1} freed !

(2) relfeve ,

!

(3) rid
(4} last
{5) clear
Directions (11-15) : Read eacl
Sentence to find out whether there
Is any grammatical error or idiom-,
ate error in it. The error, if any,
will bemonepartoftheaentmm.'
The number of that part is the an
swer. If there i3 no error, the an
swer s {5), (Ignore errors of punc'
tuation, i any) ;
11. The city joined a leagye of (§]1
seventy other cities from acrost
the globe (2)/ for g clty-to-cly
collaboration to tackling (3)/
climate change ang increast
g}ban restlience. {4)/ No errwr
12. India 18 set to (1) / 4
million barrels of i) [%?}to all
{8}/ ita first & Petroleiun
8.8 nife- {4)/ No evror (5) )
+ s uttilorm poltey for [1)/ regu:
lerising and e ing lle
gal and old buildings, (3)/
being submit o the govern
ment (3)/ by the end of thi¥
wenth, (4)/ No error (5)

@/t
(3)/ 1
strike
pirec
roﬂcmﬂﬂgl
owar the,
s
to locate
SOME of th
Indlal
contradiot:
refrairt. Fn
to lightless
variance ir
Nowhere is
clear as it -
torin India
msurance ¢
ance sectoy
the world
maney invo
is not as E
should be,

Market-gize
biggest lacy

Dag that ¢y,
an
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sales (1)/ office a visit, make
. gire youu are aware on [2)/ the
 fancy marketing pitches being
usgd (3)/ by them to lure po-

tential buyers. (4)/ No error (5)

16. Thousands of internationat
. traveliers was (1)/ stranded at

(2)/ the alrport as Rty pilots

(3)/ from Alrline A went on

strike. (4}/ No error (5}

_ Directions (16-25) : Read the
following passage carefully and an-
gwer the glven question. Certain
words are given in bald to help you
to locate them while answering
some of the questions.

India being viewed as a land of
contradictions is a fairly common
refrain. From bustling metropolies
tolightless villages, there is a huge
variance in different aspects of life.
Nowhere is this variance as amply
dear as it is in the insurance sec-
tor in India. Consider this, with 52
insurance cornpanies, India's insur-
ance sector is one of the largest in
the world in terms of volumes of
money involved. And yet, insurance
is not as pervasive in India as it
should be, as only about 25 per-
cent of the people have general in-
furance cover. This dichetomy of
market-size and market coveris the
biggest lacunae in the sector, lacu-
nage that the government hopes to
fll through privatisation. Yet the
road to FDI is fraught with many
madblocks. Successive govern-
ments have fatled in opening up the
Sector, despite numerons attempts,
leading #o lot of confusion and co-
Tundrum. As a result the whole
Sector is in a finx. Even so, the in-
Surance gector is projected to grow
2% a compounded annual growth
Tale of 12-15 percent in the next
fveyears,

The insurance sector opened up
Ih 2001 with the foreign direct in-
Vestment (PDI) limit being set to 26
Pereent. According to various re-

titls sector has subsequently
Wincgaed two phases, one that saw
High growth between 2001 and 2010
& the other'a dormant period be-
tweeni 9010 and 2012, However,
¥t from these periods of rapid

and moderate growth the industry
has also seen product and opera-
Honal innovations, given the in-
crease in competition,

As of FY 13, the total market-
size of this sector was US$ 66.4 bil-
lion and is expected to touch USS
350-400 billion by 2020. According
to experts, while India’s insurance
industry is no doubt growing and
is poised to grow further, it is also
facing profitability tssues on ac-
count of distribution and operat-
ng models. It pegs the cumulative
losses to private life insurers in the
excess of Rs. 187 billion till March
2(12. Slow growth, rising costs and
stalled reformas are further hindes-

ing the steady growth of this indus-
try. )

If the announcement made in
the Union Budget 2014-15 is any-
thing to go by, the future of this
sector looks optimistic. Taking a
reformative step, the Finance Min-
ister had proposed increasing the
FDI cap in the insurance to 49 per-
cent To this effect, in July 2014,
the Cabiriet Commities on Eco-
nomic Affairs approved 49% FDJ in
insurance, thus green-flagging re-
forms in the sector. This is a wel-
come move for the insurance in-
dustry which was lIooking to. raise
more capital from overseas for quite
some time now. The investment
starved sector has definitely got a
boost. Insurance penetration in
India is on a decline in 2010, in-
surarnce penetration was 4.4 per-
cent, which further dipped to 3.17
percent in 2012-13. For nsurance
penietration to increase, the secior
will need huge amounts of capttal

investment and the Itke in FDIcap |

will only make this casier. As the
sector expands, it will also lead to
Jjob creation in the sector. As more
capital flows into the insurance
sector and the manpower ineseas-
es, it will be easier for insurance
companies to tap under-insured
markets. By 2020, India's insurabie
population is expected to touch 75
crore. As a result, the importance
of ife insurance in financial plan-
ning is only set to increase.

With the new gwemm;;{
stress on reforms, steps takeq by
IRDA to make insurance more con.
sumer-friendly and India's favour-
able demographics, the future of
India's insurance industry looks

- good, However, it remains to be seén

how this sector impacts the un-

banked sections of India, in the

¥years to'come.

16. Which of the following is

nearly the OPPOSITE in

meaning to the word given in
bold as used In the passage ?
Welcome: :

(1) unwanted (2) receptive

(3) leaving {4) bidding

{5) distanced .

17. Which of the following is
nearly the SAME in
to the word given in bold as
used in the passage ? ‘
Dichotomy
(1) branching
{2) multiplicity
{3) homogeneity
(4)breakage (5) contrast
18. According to the passage,

. which of the following can be
said about the present posi-
tion of Insurance sector in
India ?

(A) The efforts made by the Gov-
erninent to boost this sector
are being ret with a lot of re-
sigstance from the public,

{B) The amoont of momey invest-
ed in the sector is not in sync
with the number of people in-
sured.

(C}] Thenumber of insurance com-
panies in India is very high.
(1)Only C - ’

(2)A0A Band C

(3)OnlyBand C

{4) Only A and C

(5)Oniy B

19. Which of the following can be

the most suitable title for the

passage ?

(1) 'The Indurance Sector in In-
dia-Poised for a Dewnfall

(2) The Road to Growth of the
Insurance sector in India

{3} Insurance Sector-The
Highest Revenue Gencra-




+ le
b

k tﬂl’ s . . .
- {4Y Underprivileged and Un-
" {5) Why the Insurance Sector
1. Wilt Never @uite Flourish
30. Which of the following is true
+1 according to the passage ?
i (A} By 2020 the insurance sector
1 is expected Lo grow at least by
| argurnid four hundred percent

from 2013.

(B) The authorities are taking ef-
forts ta make insurance prod-
ucts easily understandable
and avalflable.

{C) Previous efforts of the govern-
ment to opent up the insur-
ance sector have met with fail-
ure.

{1}Only Aand B

(2)Only A

{3) All the three A, Band C

{(4}Only B

(5)OnlyBand C

21. According to the passage.
which of the following 15 not
true?

(1) High cost in insurance sec-
tor is one of the sectors
restricting the steady
growth of the sector.

{2) The present distribution
maodels of insurance are
not positioned to draw
maximum profits,

(3) Until very recently, the in-
surance sector witnessed a
high growth phase.

{4) Insurance products have
witnessed changes from
when they first came into
existence.

{5) All the oplipns are true
according to the passage.

22, Which of the following is
nearly the SAME in meaning
to the word given in bold as

" usedin the passage ?

1 (1) dignified

 (3)posed

T (3) alerted

.3?- According to the passage,
will be

(2) set
(4) composed

" which of the fsh
the result of increased FDI n
|, the tnsurance sector ?

(B)

available in_ areas

under insured. . - a

Creation of more jobs o the

sector. o

(1) Only

{2)Only B and C

(3O0niyAandB .

(4) Al the three A, Band C

(5)Only Aand C

Which of the foilowing is

nearly the OPPOSITE in

meaning to the word given in
bold as used in the passage ?

Flax

(1) stability  (2) mixture

(3) plainness  {4) paucity

(5} simplicity

As rnentioned in the passage,

which of the following will

help in providing a boost to
the insurance sector in India?

(1) Running several awareness
campaigns about general
insurance for the general
public.

(2) Increased invesiment by
foreign companies in the
sector.

(3) Integrating technology into
the iInsurance sector.

(4) Force-selling a select num-
ber of insurance products
to the public, thereby mak-
ing it popular.

(5) Allocating a greater per-
centage of the country's

(©

budget for the insurance

sector,

Directions (26- 20) : In the
following passage there are blanks,
each of which has been numbered.
Thesenumbers are printed belowthe
passage and against each, five words
are suggested, one of which fits the
blank appropriately. Find out the
appropriate word in sach case,

.. Pull a-spring, let it go and it

will snap back into shape. Pull it |

further and yet further and it will

goon springing back {26) quite sud-

denly it won't. What was ‘onge &
spring has become'a uselesa plece

of scientists defined Whiat they '
thought of as a safe operating space ;
for human (29) -~ a set:of rilne lim. |
its beyond which people should nt’
push their planet. The nine areas’
of concern were climate change,

ocean acidification, the thinning of

ntrogen and phosphate éycles (am.
cial to planet growth) (S0} of wil-
demess to farms and cifies extine-
tions. the build-up of chemical pal-
lutants and the level of particulate

felt confildent enough to put num-
bers to these boundaries and since

then this concept has taken root.

T Collfusgmfdoubt :

- Tegarding the
[P | published articles
whanl  andother
| ‘materials in the

'ofKIRAN-

of curly wire. And thalt in'a ut-

b

mei?lems@ﬂta :

the ozone layer, intervenition in the - :

a8

Y

pollutants in the atmosphere. -For
seven of these areas the scientists

28. (1) after (2} because
(3)to (4) until
{3) forth _

27. (1) knowing  (2)worry
(3) study (4) assuming
(5) puesses

28. (1) value {2) conflict
(3)supply  {4) set
{5)idea -

29. (1)suffering (2) view
(3) catastrophe
(4) victims -
(5) development

30. (1) problem  (2) conversion !
(3) hope (4) effects )
{5) consequence -

books md.mgazine'si o
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i ~=ir | Data related to books
' Number ofboclks | Percen .
sold-n thousands ;ﬁd Respective Ratlo of
(Online number of Non-Fiction
! + Offline mode) | Mode books sold to number
thay of fiction books sold
it (Online Mode + Off-
i u: G 550 - line Mode)
) o Il 720 575 L
s (02| 945 ) o
e (35100 > an
Hewly, [20M4 1800 75 3.5
ere. gy -
dentyy, 8118 the years 2010 and 2011 to- | 34. In the year 2013-out of the to-
I:i Dy, ge?;g. l;:l'ua average number of tal nurnber of books sold in the
1d aip ho ought by each buyar
nimo.:e through offline mode was 5. If fiction category % th of the
use ] books sold were viritien by In-
I: 5 thof the number of buyers dian authors, Number ofg}«;nks
written by the foreign authors
¥ buying books through offline _ in the fiction category forms,
mode, during the years 2010 what percent of the totzal num-
ming and 2011 together were of the ber of books sold [non-fiction
age group more than or equal and fiction category together)
iet to 30 years, then how many in the year 2013 ?
. buyers were less than 30 years (1) 62% (2) 56%
of age ? (3) 65% {4) 60%
(1) 42000 (2) 41000 () 529% :
{3) 57600 {4) 42500 958, What 1s the differénce between
(5] 45000 t!:i*:d number 2%f gctigrésa??’nks
sold in years 2012 and 2013 to-
- 82, What is the respective ratio of gether and the number of nan—
' the total number of books s;lld . fiction books sold in the years
through Online Mode in the 2011 and 2012 together?
years 2010 and 2011 together (1) 878 (2) 876
 and the total number of books (3) 573 (4) 673
sold through offline mode in (5) 676
== thesame years together ? Dircctions (36-40) : Whatwil
i [° (25:32  (2)24:25 come in place of the question mark
' . @)23:24 (435:36 [‘?)ineachofthefollowlngnmnber
4, B)25:28 series, _
1 || | 33, What ts the approzimate per- | 86.16 87 62 % 146 .2
.| ! centage decrease in the num- (1)229 @217
1.1 | ber of books sold through of- (3)221 4213
»g.{ | fline mode in the year 2014 (5) 2532
jq,( | frommeyearzom? 87.23 15 2 5% a2
it 1B (2} 19 (1)1168 (2) 984
. )21 (423 (3) 1208 (41 1076
! (5)25 (5) 1112 ;

e

Numntcm.m;m

pmcﬂm (31-38) : Study the

following table carefully to answer

‘e @ 1211

*{8] 1351 1248 :

(5) 1079 R
‘40,4 11 % 129 P 2755

(1) 528 @57 ,

(3} 682 (4)8as6 . ..,

(5) 516 ;

39.541 269 133
‘(181
13]33
‘1) 29
9928 1§ 28 -974°

Direcilons (41-45) ‘Refer 10
the following ple-charts carefully
and answer the given questiohs.

_ Total Number of Participants :
500 .
Distribution of total number of
participants from & colleges in
Youth Festival ' POR' : .

Distribution of total rumber of
pardcipants in 6 competitions held
at Youth Festival PR

Mimicry
10% _
Dancing
Gaming 20%
19%
Singing
Street Play _ 14%
24%% \
aligraphy’
. 19%
NOTE : Youth Festival ‘PQR’
had only 6 competitions and gvesy’

student could participate onty m

one competition.

41. Out of the total numher of pars
ticipants in Dance tompe ’
tion, 20% could qualify for m&
final round of the con;pe .
and these participahts’ “weq:

from colleges B am:lY- i




DDEf. PRACTICE SET-06 |

y — netit B0. A jar has mixturel of ik ags ¢ i
[ re&ecﬂmmtlobemmﬂ?e P"t}r' ﬁmﬁmud?&wm% ] ws{ter in i_he respeh%-j'vg 'ggﬂoig; C
: fhcip:gz ﬁm mgz ence between the number of fe- 4:3. F;o[::uﬂ],:i??’m:lr e;fatm‘) s o B

i mpetition from college B and males participating in calllgm.; tak“ﬂxmtmaut and after that 41
Yis2: 3, If two-scventh of the | phy and singing competitions fres of pure watet was addég O
total participants from college | (1)5 @20 e e sespretive fatlo ol
Y, participated in Dance com- (3)12 @io and water in the jar s 24 : 1o,
petition, how many pariicipants (3) 16 What is the naw guantity o
af college Y could not qualify for | 46 pipeet distributed 2 sum of mixture i the jar ? {in litres)
the final round of dance com- money among his wife, two sons (1) 172 ) 182
petition 2 and one daughter and kept some &) 180 ) 182
{1}4 26 money for l‘limsehlz.hza%%hof the 5) 168

4) 10 m that . he gave
:g; ?2 ® zt;l!s m and kept 22% of it | 51. A merchant nt';iarkathl_'l'ls gms n
42. What is the central angle cor- for himself. 80% of the rematn- s:lch ?s\gzymdatjs e paltot‘:;
responding to the number of ing money he distributed among sake o rz% eques
pariicipants in gaming compe- his two sons and gave the re- selling price o a:l:l.cl? - What
tition 7 maining to his . If the is his profit margin
(1)69.2° (2) 68.8° daughter got Rs. 2,940 more (1) 25% (2) 50%
(3)64.8° (4} 58.2° than the money he kept for him- 3) 100% (4) 66.67%
{5) 88.4° self, what was the toial money 5) 75%
48. The number of participants from that he disiributed among his Directions {52-568) : Study the

college X is what percent less
than the total number of par-

tcipants rom college C and A

togather 7
WBy  @%
@2 @
(5) 243

44. Out of total number of partict-
2
panis in Street Play 11 Partic-

ipated from college A and o
. parlicipants from college X.
What ia the respective ratio be-
tween the number of pertici-
pamts from college A in Street
Play and the numnber of particl-
pants from college X in the same
"r competition ?
(Mir:s
3)5:2
- ®)5:1

(2)10:5
-910:7

43:- 5 of the total participants in
: calligraphy competition are fe-

fwo sons ?
{1) Rs. 87.178 (2) Rs, 87,108
{3) Rs. 85,260 {4) Rs. 86,800
{5} Rs. 86,786

47. If the Iateral surface of a cylin-
deris 94.2 em® and Hts height s
5 cm, then find radius of its
bage. [Use n=3.14]

(1)5cm (2) 7cm
3)3cm {4)%cm
{B)4em

48, A car covers a distance of 840
km at a certain speed. If the
speed of car were 10 kmph miore,
itwould have taken 2 hours less
to cover this distance, What is
the original speed of car 7
(1)60kmph (2] 46 kinph
(3)50kmph  (4) 70 krph

(8) None of thege

49. There are 5 red balls, 4 yeliow
balls and 3 green balls in a bas.
ket. B 3 balls are drawn at ran-

dom, whai is the probability
that at least 2 of them are green
in colour ?

_1_ 13
ET @ 55

3 11
9 11 4 55

7

(8) 73

‘| Graduation,

S SRR IR RN

following information carefully to
answer the questions given thers
after.

There is a cluster-of 3 villages
nelghbouring City ‘XYZ - village A,
village B and village C. The respec-
tive ratio between the population of

village A, village B and village C is
4:3:6. . .
Out of the total population of

3
village A, 1g ©f the total villagers

have qualified only upto class X, {6—

of the total villagers have qualified
only upte XIl and the rematning
3000 villagers have qualified only

upto Graduation.
Out of the total population of
3,
village B, 7o Of the total villagers
have qualified only upto class X, ‘;'
of the total villagers
have mlaﬂﬁedoply upto
Out of the total population of
1 o '
village C, g of the total villagers )
have qualified only w

mBoLEiiF8a%

&
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it is this average numb
::f_"lla ;ﬂu?:gm across all the un“;’.f
L) have qualified e
w29 ] ey
i (1) 3380 (2) 3630
(3) 9850 {4) 3340
G @B
g 1600 villagers who have -
Esh é’md only upto class X frogu‘:ll.
togy o) ge B and 850 villagers who
W | b qualified only upto class
%2 A from village C are not self-
' employed (including unem-
-+ ployed villagers), what is the
% respective ratio beiween the
'+ gumber of self~employed villag-
Yth, -. ers wha have qualified only
Lllfto * upto class X from village B and
hen !+ the number of self employed
" yllagers who have qualified only
agy « upto class X from village C ?
s, - (1)5:3 @2:1
Pee o (3)5:2 $H3:2
’g d .54l
% g4, By what percent approximate-
Iy, the number of viilagers in
nd  :vilage C who have gualified
*' only upto class XII, more than
jes  : the total mumber of villagers in
 village A and village B together
7 who have qualified only upto :
16 class XII?
ld (129 (2) 42
g - (3)33 @38
nly Y]
85, In village A, the respective ra-
d :- tio hetween the total number
*.of male villagers to the total
w . number of fernale villagers 18
411 : 9. If 48% of the villagers.
1 +;who have qualified only upto
3  ilclass X are females, what per-
4 jicent of female population in
"~ D village Ahas qualified only upto
w  jjclassX?
5 (1)20 (2) 19
£ e, @A
- Bgin village;C, out of the total

i

Ly

1 Y

‘ Hiass I and the re-
475 villagiers have qualified
4pto Graduation.

6F, villagers who have
only -}hpto Gradua-

in villlage B, o " !
nurmber of vmaugmt wau}ehb l-t;ﬁ K
g‘;:mgg only upto Gradua- | ;
Post % have applied for

ost-Graduation courses.

What §s the total number of
villagers who have applied for
Post-Graduaton courses from
village B and C together ?
{1) 1360 (2) 1420 -
(3} 1350 {4) 1240
(5) 1180

G7.The present age of Sneha is

1
g of Lara’s present ageand the

respective ratio between the
Lara's age four year ago and the
Sneha's age alter four years is
7 : 2. What will be the Rupali’s
age after two years, i Rupall's
present age Is twice Sneha's
present age ? (in years)
(116 212
310 {4) 14
{6} B
68. A, B and C started & business
with their investinent in the
ratie 1 : 3 : b, After 4 months,
A invested the same amount as
before and B as well as C with-
_drew half of their invéstnents.
What is the ratio of their prof-
its at the end of the year ?
(1)4:83:5 (2)5:6:10
(96:5:10 (4)10:5:86
(5)5:4:7
Directions (89-63) : What will
come in place of the question mark
(?) in the following questions. (You
are not expected to calculate the

exact value.)

o, 1803657164 g5 57

61, 5866 + 39 x 45=14 19

) 400 (33
' {3) 540 l41'.3;§g
{5y 600 g
— J-_.)*' 26+_?__
J(45x32x (626}} =1 CARTLIN .
(1 1n 2 5
™1 4 9
: o 3 -
ag. 0.36 x 0.36 + 0.28 %x,0.96 +
.14%=7
(1) 0144 (2) 025
(3) c.018 (4) 0.025
(5] 0.16
84. The average score of 20 students

of a class in a History test s
&8 (out of 120). After removing
the top 3 scores, the average
score dreps by 2.5. H the sec-
ond highest score is less than
85 and the second highest and
the third highest scores are not
the same, the highest score
should be at least what value ?
{Constder all ScoFcs are Inte-

{2198
(4) 108

gers).

y (1)96
(3) 108
(5) 102
18 men can complete a piece of
work i 24 days and 12 women
can lete the same piece of
work in 32 days. 18 men start
working and after a few days, 4
men leave the job and 8 wom-
en join. If the remaining work

B
is completed in 15% days af-

ter how many days did the four
men leave ?
(118
(36

2}5
Ha

FOR :
LATEST VACANCIES
and Dates of
Written Examinations,
log on our website :

www. kiranprakashan.com

?
{nH 3 {2) 9
38 1 4 8
(5) 45
80.

2
(Jir7oeix Jfigen) + 477)) ="
(1) 240 2) 280
(3) 450 (4) 520

(5) 1225
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- s . . I ." ; :§4'§"| |M°Dm' L i&
’ - P B i e —— [ b ] A .
R RACTICE b L # — " pire thﬂ[*e'w)'g‘s
MODEL P m’“‘ v @ one f,umngeuﬁom-suon carelt
— 1 Bre | @me | St questions gven b
REASONINGABILITY. O tune thart thrée . Eight persons —dJ. K. L,
Divections (60-67):Stadythe | LD gy peypineschol | o pang o - e it
e eegion gves o | 18 e, L cthumons | SEEAISE 228 3 ZT bt ok
angwer the questions gIven REOW - [ ,nig followe ¢ been given. the same order.
gm to the North of ped I and Il have BG te- | sarfly in the
AT | Rl B | i e T
o o st A Point D is 3.5m 10 the | rpents o e u-ue&meqen;m common- | while some others ite to the cen.
;fagtc;a of point B. Point E is 10m tobeatvm‘lran: 2nd then decide | 1n a direction oppos )
f point D, Pomt E Is kmown fac tons log- | tre).

Smevesaictyit ||| it SRS | ™ e paing e s i

66. How far is point F from point lcal,l,’;godlsregarding commonly | tion means i ne the con
pot icnown facts. e O o versa, Facing oppusis

(1)2metres {2} 8metres Give answer (1) if only Con- | treand vice-vms o eraon fag.
(3) 2.5 metres  (4) 5metres cluston I follows directions !;:e:.nhen o pers faces
(5) 10metrea Give answer (2) if only Con- | es the Con ' 5"

§7. Which of the following repre- clusion 1 follows outside an 4 1o the left of M.
sents the direction of pomt B Glve answer (3) if either Con- O sits smh‘e K sits to the
with respect to palnt C? clusion I or 11 follows M faces the cz:f‘_lo . three per..
(1) North-East ' Give angwer (4) if neither Con- | jmmediate left < i{onlyand 3 P sty
(2) South-West clusion I nor I follows aons sit betwee L St to the
(3} North " Give answer (B) if both Con- | third cfﬂo t:'le 11¢iftt 001;_ N ediate

clusions I and I follow immediate le . Imm ¢
- 50:;‘:;::: 71-72) : . neighbours of K faoe_ op];p::it: féa
88 1(&5]; t?:::lettmof the word JUM- Statements : rections {i.:}.) ir ::txll'l.e nzfihg}bcurafac-
) BLED are arrang the No paper is a file. the cenire the other
Englizfe :al.ipl::al:n*:et.tllc:!B l;:rriea. Sonl:cpapers amunn:nrke.hcfmet;;3 a :dutsictll? a:;h:i;:?;;ferBsoa&]) IT\; ;lnt:s1
otebooks. o the .
Then a meaningful English All worksheets are n : Selts directions. Q faces
word (gtarting isformed | 71.Comnclusions: L face opposite .
it and Some notebooks are papers. | the same direction as K.
with the first, second, sixth 1. Some between O and
seventh alphabets of the word II. No notebook is a paper. 76.\7;’110 ]slits e}?uc:{ed fro:r:h o
formed, which of the follow- | 72, Conclnsions : , when ¢
3:; will be the second last let- 1. All files are notebooks. ofO?
ter of the word? N. Some worksheets being pa- ) g (2YK
)L @M pers fs a posstbility. {8} L @IN
3u .[73-74) : Statements : 5)J
than those glven as No clue is a puzzle, 77.Four of the following five are
m(?ptgzrns - e All riddles are puzzles. alike based on the given seat-
(B)E - » All questions are clues. ing arrangement and so form a

69. How many alphabets (as per
the English-alphabetical se-
ries) are there between the sec-
ond and seventh letters of the
word JUVENILE?

(18 (2)8

3) 10 (4) 12

6)5 .
70. How many such pairs of let-
ters are there in the word BA-

ROMETER each of which has

as many letters between themn

{tn both forward and backward
directions) tn the word as they
have in the English alphabeti-

78, Conclusions :
" 1. Atleast some puzzles are
questions.
IL All clues are questions,
74. Statements ¢
" 'I. No question is a puzzte,
II. No riddle is a elue.
(78) : Statemonts :
Some controls are streers,
All ateers are drives,
No drive is a navigation.
Conclusiong: -
L. Some drives are definttely

75.

not controls.

I, All navigations bt oon-

trols in a possibility; 1

(ICSE-

group. Which is the one that
does nat belong to that group ?

()P
3)Q
(5)L

29
BN

78. Who sits second to the left of J?

(M 2} K
3L (VR
B)Q :

(1 -
@™
Y
if €2
82. arrd
witt
wWor

par
wot

(1)
(3}
(5)

B
&

s s GR eSS

P

79. What is K's Position with re-

spect to N -
(1) Second to the left : -
(2) Immediate left - i
(3) Immediate right; « ©
{4} Third to the lefts: i

{5) Third to the righe | § *
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it CTIGE SET-06 [l AR i Fa bodh
- wgrrnng ' PBfFaue the gen: + Hthe given;words are giranged | 88.0n which ormemmﬁw .- .
o e? : in the order as they wonld ap- doca N have hig'fight ® * i1'y:
L giCunyt T 2)Two P a dia from lefl (1) Sunday I e
tnﬁs‘aqdki | {3} Four &) Five . ‘:hktgl'f right, the position of {2) Thursday “: " A
the "y Biseetions OB e s | (0 vr ) oY @satarday 1
sty SSTY | oeng questions axe based on the @ am {2} SLY (5} Tuesday i
bo ghg iy ! e Words given below : (5) BUD @) DYE 89. Who amangst the following
e Ce;: gLy, BI;JD MET DYE am Birec . has his flight exactly between
(the 1tew words fo = g tons (85-50) : Study the the days on which O and Lhave
AMme d . forming the rmed after Rowing information carefully and thetr respective flights ? .
the et P2 inaygor mentioned opera. | answer the queations given below ! v @
; the A .gﬂon;ngu o wl;;?;]not be meaning- K Ifeven dilferent persons viz., J. @ P @K
S OPBog, ' gy, How many letters are th Silorent dectisions viz., Datht, | o, ot
moC0fy the English alph ere in Ahmed. stinations viz., Dethl, | g pow many persons are sched-
Rer g der betwe alphabelical or- |. sbad, Mumbat, Chennal, uled to fly between the fiights
T cr oy f:l first Jetter of the | Pt Lucknow and Chandigarh but to Mumbai and Pune ?
left ofy, leﬁ“ T and ::.h;s ":gn; :i;m the | Mot “e:ca?r-!‘lﬂl:]r in %e same ;rﬁder. (1) None
ts Tl ter of .| Each one em [lies on a difter-
hret: th the word which ts first from | ER¢ day of & weelk starting from (2) Two {3) Four
J. p];f; {t:lf !%i’;f_ of m?zimm words? mndar and ending on Sunday of (4) Three mlzla?nlen .
L Three same week. Directions Lot 1Ineacho
g;o the (8) Six (4) None © P flies on Wednesday. The one the following questons, relaiion-
os dfatg {5)" Five who flies on Friday flies to ship between different elements 18
} e ¢, pg. If each letter tn each Chenna. shown in the statements. The state-
ur facy, ach word is © Only one person flles between ments are followed by two Conclu-
) arranged in alphabetical ord
JOur fa within the words, how ex P and J. slons numbered I anid II. Study the
" 1'13 8ils words will change’ Whmm © Only two persons fly between Cocclusions based on the glven
- N amg pared to the orlg : M and the one {lying to Pune. statements and select the appropri-
Q facy 6P original set of The onie who fiies to Pune Tieg | Bl @nswer:
(1) Fo after M. M toes not have his Give answer (2} if only Coclu-
10ang ur (2} Three flight on Monday. ston 1 1s true. -
the Iei (3) None  (4) One © Only three persons have their Give answer {2} if only Con-
~{8) Two '_ flights between the persons fly- clusion I is true
89. If in each of the given words, ing to Pune and Chandigarh. Give amswer (3) if either Con-
each of the consonant is | ©. O flies immediately after the clusion 1 or Conclusion 1l is true
changed to the previous letter one flying to Mumbai. J does Give answer (4) if neither Con-
ve are and each vowel is changed to not fly to Mumbai. O does not clusion 1 nor Conglusion !l is ture
| segh the next letter as per the En- fly to Pune. - Give answer (8) If both the
ormi gish a.lphabq;ical org)er. 11; @ l?;g\yve ?ne gzrs;r;‘.has his fight g:nglr:'lons I and Il are true.
oup! will no vowel appear? © The person flying to Delhi fites D2E>P>L<H;R<N<L
{1} Two (2} Four immediately after the person Convlinsions
(3] One flying to Lucknow. L N>D
{4) More than four 82 ;{v:"es not fly tol?e'l?ll.l I H>R
(5) Three .Who amongst the following | (92-93) : Statemients <
ofJt %If:irsta]phabctmeacl‘tofﬂle flies to Ahrnedabad ? S=H<J5K:It.s-1-1>u(3. ] Z
" words is changed to the next (nJ (2} M oL : .
 aiphabet as per the English al- (B K @P 82. Conclusions : N
, re ; phabetical order, how mauy 0 L N<L :
. words having two ormore vow- | 87.0n which of the following days IL K=B P
. els (same or different vowel) does the one flying to Lucknow
' will be formed? - have his flight ? 93. Conclusions:
: orm . . . S=D
(1):None  (2) Two (1) Monday  (2) Thursday L DS
(3) ' Four .(4) One (3) Tuesday - {4) Saturday ) .
push : (5) Wednesday 94, Statements : 1
:‘é,_;"“e : BpZ<XsQ:BaY¥=L
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‘93, Statements
C>DaF:R<M<F
Conclusions ;
. C>M
D R<D
Divections (98 ~ 100) : Study
the following tnformation carefully
and answer the questions given
below ;

Eight persons — S, T, U, V,
W, X, Y and Z — live on eight dif-
ferent floors of a building but not
necesgarily in the same order. The
lowermost floor of the building is
numbered 1, the one above that ts
numbered 2 and so on til! che top-

. most floor is nurmbered 8,

Y lives on an odd numbered
floor. U lives on a floor that ts im-
meciately below Y's floor. Only four
persons live hetween W and S. S
lives on one of the floors above W,
Z ltves on a floor which is fmmedi-
ately above S's floor. X lives on a
floor which is immediately above
floor numbered 2. T does not live
on floor mumbered 8. V lives on one
of the floors below 1.

96. Which of the following state-
ments i5 true according to the
. given arrangemnent ?

(2) None of the given state-

ments is true.

(2) Only two persons live be-

tween Y and W.
(3] Z lives on floor numbered 6.
(4) T lives on one of the floors
below W's floor.
{5) Only one person lives above
. V's floor,

| 97.T lives on which of the follow-

ing floor numbers ?

(1) fleor number 4

(2) floor number 1

{3) fleor number 5

{4} floor number 3

(5) floor number 6

98. Who amongst the following
lives on floor number 8 ?

2)v

81z 4)s
®x

-'ensm—oell= it im

Couelw . 99, Four of the fdﬂ&ﬂving ﬂvp : b
"L Leg ous' elike In a cértairiway basbd
L L>g the given anﬂngemenb cl

hence forri a group. . Whichof
the following c!oes not belohg
to that group? - 3

(WYX @zr
(3) VX ) TW
(5)SY

100, Who amongst the following

lives immediately below I's
floor ?

nx @2v

(3w (48

5z
==| ANSWERS =
L)) 2 8.6 4@
5.2 em| 7@ 8@
8.0 1.8 1.9 ]| 12.
13. (3] 142 18. (1} § 16/ (1)
17.15)] 18.(3)| 18.(2) | 20.(3)
2.0} 22.{2)| 23.(0 | 24.(1)
28. () 28.(5}} 27.(2) | 28.(%)
29.(1)) 80.4)| 31.(3 | 32.(3
8%.2)] 84.(2)] 9B.(4 | 36.(3
37.(5{ 88 f1)| 8.1 | 40.{4)
41 (3)| 42.(8) | 43.(5) | 44.(2
45. (11| 46.18)) 47.(3) | 48. (1)
49. (51| Bo.(1)| 51. (3 | 52 (3
538, (2| s4.@)| 85. (0 | 56 (1
57.(3)} 58.(2)] 59.(5 | s0.(5)
61 (8]| 62.(5)| 69.(2) ] 84.(B)
65.(4)] 66.{3)| 67.(5) | 68.12
80.(2)[ 70.19] 1.0 | 2. |
7.4 7.5 | 5.4 | 78.02
77.(9)| 78.13)| 79.(4) | s0.{))
8.3} 82.41)| 83.(2) | 84.(4
88.15)| 86.(9) | 87.(1) { 88, {5}
-89. )| 90.(2)] 91.(2] | 92.(1)
93.(0)| 94. 14| 95.60 | 96.
87. B)| 98.(3)| 99.(4) | r00. (1)

EXPLANATIONS

8. (1) Here, ‘for’ should be fol-
lowed by a Gerund e, steal-
Ing.

Steal (Verd) = to take with-
out permission and without
Intending to return.

7. (4) The sentence shows past

time. Hence, Past Simple

should by used here.
ICSE*’?G

8. (4)The sentenes fsliniti

voice, Hénee,. V‘Q;l i) A iﬁ‘
should beused, | & gﬂlleq _"_.'!5
2 R [S}meeﬂﬂbldeﬁy,‘tlhn I "
dowm. - B
10. [3]Getrldof— makem e
self free of snmebody/ } 1 5’

thing that 15 annoying you, : -

11, (3) Here infinitive = to +V i.e, :
for a city to city colla]:omuqn
to tackls ..... should he usad,’ A

13.(3) Structure of a sentence i N
Passive voice of Present Contin. £
uous ! 1
Subject +is/am/are + betng +V_ =
Hence, is being submitied tn 5
the gavernment ..... should be
used.

14. {2) Here, it is preposition rela.
ed error. Henice, office a visit
make sure you are aware of ...,
shouid be used here,

1B5. (1) Here, subject (Thousands of
international travelier is) is plu-
ral, Hence, was should be re-
placed with were.

16. (1) Welcome (Adjective) =that .
you are pleased to have ; receive,
etc. ; accepted or wanted some- .
where.

Unwanted = that you do not
want

Look at the sentences :
Children are always welcome at
the hetel.

It is sad, when c]:ﬂldren feel
unwanted.

17. (5] Dichotomy (Noun) = the
separation between two groups

or things that are completely
different from each other.

22. (2)Poised (Adjective) = com-

Pletely ready for something or

to do something ; set,

Look at the sentence :

The economy is poised for re-

covery.

(1) Fiux (Noun) = continuous

movement and change ; a flow.

Stability (Nonn) = state:of

being steady and lmt dmng- ‘

ing. :

Lookattheqea& : I

Our socieq.- 1q

flux. e

A

24.




o ; "iﬁa_é'emﬁﬂ_onal'ata-
3 sale of books under offline

i pde
Bigh e 2010 = 60% of 690
e S 690;(60
800 414 theusands
Somy  year 2011 = 720 x (100 -
1Ly 0x42.5°
g =906 thousands
tee (. According to the question,
onty, number of purchasers below
) the age of 30 ycara
B+ -
st [Lia14+308) 3) thousands
Id h - 5 5
b
1 " 720%x2 :
ey, =35 —8 thousands
Vst .57.6 thousands
o 267600 ,
i 42.(3)Number of books sold
4 © through offline mode in the
Pl years 2010 and 2011
Ie = (414 + 306) thousands
_ 2 720 thousands
it s Number of books sold
ive, through online mode
T = (690 + 720 - 720) thousands
=680 thousands
hot s Required ratio = 690 : 720
=23:24
33. [2) Books sold through: offline
i mode :
Year 2010 = 414 thousands
ngl Year 2014 = {100 - 79)% of 1600
1600x 21
he =100 = 336 thousands
; Percentage decrease
414-336 )
, =112 x 100
v -
= m x 100=18.84=19

. 34.(2)Number of fiction books
sold in the year 2013

= [%of 12_40) thousands
| =980 thousands

" Number of books written by
foreign writers

¥ 4
=930 % [1'"1'.3]

ckiwith kheir famlbr 3

; ) 18 T ¢ I: i .

| & Required percent i :5
- 082 68200 ¥,
=1240 % 100 = m_.,qlﬁﬁ%

- 88. (4) Number of fiction bgoks |:
sold in the years 2012 and

2013
81 3
= [(945 X -l—g) + (1240 b E]]
thousands .

= (504 + 930) thousands

= 1434 thousands

Number of nion-fiction books

sold in the years 2011 and
2012

Y

= (320 + 441) thousands
= 761 thousands
~ Required difference
= {1484 — 761} thousands
=873 thousands

$6. {3) The pattern is :
i6+21=37
37 +25(=21+2% =62
62 +34 (= 25+ 8% =96
096 + 50 {= 34 + 49 = 146

14s+75[=5o+5ﬂ)e@

87.(5)The pattern is :
23 %1 =-8m23~8=15
15%x2-8=30-8=22
22x3-8=66-8=58
58x4-8=232-8=224

224x5-8=1120—8=

38. (1) The pattern Is :
5412'3 = E%E =269
§'l-:'3‘ a 3;‘ .= 14 :

274 % -:-+10='123$fl-;10 _

. = [128)

40, {4) The patternis:
axi+1x7=4+7=11
1L X2 +2x%7=22+14=36
36x3+3%x7=108+21=129
- 120x4+4xT7=516+28

544 %x5+5x7=2720+35

=2755 _

41. (3) Number of participants for

dance competition

500 x 20
600 - 100

Number of participants quali-

fied for final round |

100x20 =920
100

= Number of participants from

collegesBandY -

o )
= x20=8

College B = 5

3
College Y = B X 20 =12

Total participants of college ¥

BO0 x 14
=00 =7
Participants of dance compe-
tition - :

2
=70x 7 =20
s Required answer
=20-12=8 .
43. [5) Percentnge of participants
tn gaming competition = 18%
* 100%=2360°; i .

2

[P
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R T

PR rr

PT jisdr T =Rs. 85260 - il 1-': )
; I [y 4 9) Lateral sul'fﬂw éj’ﬂﬁ?fcy !
1& ") 14-00 __% 47 [ ] [P t
.-—mmp--.-g"ﬂﬂg inder XISty :
, 3!5:-_1' 3 | =94.29q-°m- O _,
AR R 2nrh = 94.2 "94@
J M-Mmequ“ﬁdm““n ' BB =2x3.14xrx5 :
4 , 4.2
: = IQ 7 et = B m
-_ #5. (1) Total number of particl- | =7 2xBUXE of car
¢  panta in calligraphy m%lllﬁ;m@“ o
_ BX
f‘ | 500 0:15 =75 According to the queaﬂon.
14 : o 840 _ 840 _,
il Fem._ale pgrﬂclpan % x+10 ©
a%x?ﬁ:dﬁ x+10-x] 2
cipants =840 | ¥x+10) | ™
i o o s of participen = 840 x [(x+ 10) - 4
_M=70 =¢2x3+20x-8400=0
: = 100 =24 10x=-4200=0 0=0
: ' ts = % + 70x- 80x- 4200 =
:T Femalcgpal'udpﬂn = x{x+ 70’ GO[x* 70} )
-,-?-x'roaso _ :(:-gg}[x-:-ml =0
chuiredanswer [-+ Speed can't be.negatlve]
=50-45=5 : ~ Actual speed of car -
. = sokn'lp}i
48. (3) Initial total amount with 49. (5) Total number of balls in the
] Punect = Rs x (lef) basket
. Percentage of Amount given to - o=
. ¢ For self =5+4+83=12
d wife and kept for.s Total possible outcomes = Se-
; = (20 +22)%= 4292 lection of 3 balls out of 12 balls
: Ramumnganmun '
: = 100- 42 = 58% =1, 12XUXI0
Amount giventos_ons =220 Xax
. 58x &0 174x Total favourable outcomes =
: & 300 =Rs-"560 Two balls of green colour and
one ball of red or yellow-colour
; "‘“‘“““t given to daughter + all three gresn balls .,
3 53.\: 40 116x _ o : )
: 7 100 100 =R 5o - ;C:gx+ f t ;Bac :
Accanimg to the question, . Required probabinq:
| LGk - 39x 28 7 i
450 i = "8
“ 11633‘.' e 80. (1) Initial quantity of ik m
e | ke i L, '
LA il M A water & res
'_ "P M k? Lo In 28 litres ofmbcrt
';‘-.\;. , _.':l .- £ H 4 i ! 1 ﬂ !
ﬂ Milk = 7 X 28 + 16

33 l2) Villag

=172 litres : 1 .
51.(3) S.P. oi‘50art1c&s

=C.P. of5Darticles+S'P.of25

articles

= 5.P of 25 articles =C.P of

50 axticles i
s Gain percent |
= 50_525x100 = 1008 -

Calculations (52-36)

Population of village A = 4x
~ Graduate population of vil-
lage A

=>x=2000 °
Population of village A
=4x=8000

~ Population ‘o[ vﬂ}age B
= ax 6000 .
Population of 'dllage C
=5x=10000 . |

52. (3) Population ‘w

ified only c}ass

Ohavequa]

f | ionl;n c]a‘g .
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3.,:
3

ety

B ofy,
i C-P, y

=4y
toly

et

Vﬂlﬂge G,Ls s *10000= 1250

chuh’ed ratio
5;-[1300 - 600) : (1250 - 650)
121200:600=2:1

H.[S)Vﬂlagﬁrs in village C wh
: have qualified only class X1 ©

it MHM
s

E x 10000 = 8250

Viuagers In villages A and B
3Wh0 gualified only class X11
»~ Required ratio

= 3500 + 1200 =4700

6250 - 4700
_" 4700

155000
= 4700 ~93%

38. (1) In village A,

x 100

Male population = % * 8000

=4400

Female population
2

= 20% 8000 = 3600

Villagers who have qualified
only class X

3
T % 8000 =1500
Female villagers who have
qualified only class X.
48 x 1500
*Tio =7
~ Required percernt

720
= 3_6-0'3 x 100 = 20%

5
+§  U6.(1} Graduatevillagers in village C

350

n

55[17%—%] x 10000

2
“E’ » lOOQO: 2500

. _ mlagem wim have applied for

pst graduate courses

a [1—3— l]
10 =T | x 600D

1
= 2 X6000 = 3000

Villagers who have applied for
Post graduate course
3000 x 22
= 100 = 660
< Required answer
=700+660= 1360
B7. (3) Sneha's present age
= Xyeurs
<. Lara’s present age
= Bx years
According to the question,

8x-4 _7
x+4 T2
= 16x—8="7x+28
= 16x- 7. x=28+8

36
= O¥=36 == —9- =

* Rupali's present age=2 x4
=8 years
~» Rupali's age after 2 yearg
= 10years

58. (2) Initial investments of A, B
and C respectively = Rs, x, 3x
and 5x
Ratic of equivalent capitiala of
A, Band C for 1 month,

‘s{xx4+2xx8:

[3xx4+—32£x8) :

[5xx4+-5?xxs]

=20x: 24x: 40x= 5:8: 10

65-184
89. (5} -@&—-—

5851 + 37

287-184
?

= 103=28%7 .
K
i

I
R !',
Y 2

Graduate villagers in ;riﬂage Bi|

?= (‘\fl758x4587)4~\ 477)

=42 %24 +200~ 35=}= 1225

8366

61. (3) x45=?% 19
= ngsoa?;ug o

10230

= P = 540

82. (5)

Lo 180 g

K3 60 !

2)? = (D.36) (0.36) + 0.28 x
0 36+0.147

= 0.36)% + 0.14 (. 36 x 2
0.14) -

=(0.36)>+0.14.x (0.72 +o.14}
=(0.36)2+0.14 x 0 86
=0.1296 + 0.1204. = 0.25

84. (5) Sum of total marks obtained
hy 29 students = 29 x68 = 1972

Sum of total marks obtained by
remaining 26 students

=26 x (68 — 2.5)

=926 % 658.5=1708

A Totalmarksobtah'mdbytop
Jstudents -

=1972- 1708 =269 :
Possible second highqstmarks
=84

Possible third higheqt marks
..as v

tainEd 3.
=269 - 84 83-.-..1

66, (4) (18 x 24) men’ 1

Required htgh&et mar!m ob- ;
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glecnndﬁt}leit& of the.word = - >
iy —M . Nop}xz:zlﬂs?c‘}‘__-‘ . s
Work|done by 23 men 69. (2) A"_E.:,,E_typeofCoTchi-_ _
1 346 6|78 sion i, @
MDDy lel vE N ilLIE .Noﬂdd]elsac}ue.
Wy @ Al rlddlﬂs are puzzles. ;
1§x24 23x360 [LJMNOPQRST p
|1 ¥ Wy x23 @ , ' o
7o — No pudsle is a questton. ; N
e 22 -2 vl 5 18 E - type of Condly, 13
= Wai= Jax21 “ 6 2 1181513 5 20 A+E= _ : £
Wtk done by 18 men BAROMETER . ston o O
" IR “No riddle is & q:lee on.” R
3 1 4) Netther Conclusion 1 ne
=1- =5 71-78) = 73. (4) ]
8T !m A.Iliwrksheefs are notebooks —> Conclusion I fﬂlh;’;
; 1 Universal Affirmetive (A-type). | 24, (5) Co[;}glusinn I11s the Concla,
= Time taken in doing r) Some ere worksheets — " ston (B).
_ . PaxﬂcullJ:rp Affinmative (Hype): Conclu?lm'l II is the Conely.
1 file ~» Universal sion (@) ;
== w24=4days {111) No paper is a
work B 2y Negative (B-type). ) :
v mg ::g:ieﬁng-tﬁyl;i} - Some controls are steers.
(71-72) :

66. (3} Foint F is 2.5 metres away
from point A,

67. (5)Point'B is to the North-

West of ppint C.

tz H

. B L E b

Some worksheets are papers.

No paper is a flle.

1+ E = O- type of Conclusion

“Some worksheets are not
flles.” (F)

Some papers are worksheets,

All worksheets are notebooks.

I+ A= 1- type of Conclusion
“Some papers arenotebooks.* ()
71. (1) Conclusion I is Converse of
the Conclusion (Q).

72. (2) Conclusion 11 is Converse of

the second Premnige,
(73-74) :

Al questions are clues,

No clue 15 a puzje,

A+E= E - type of Coriclu-
?;Jon “No question s g puzale®

J L U
45 7

Elmafite i vk
T &

|
H

T TG

LT
LT AR
l':.‘“fﬂilt. .

i

All steers are drives.

I+A = 1-type of Conclusion
“Some controls are drivés." [p} 78
All steers ara drives.

Ti
No drive is a navigation. T
A+ E = E - type of Conclusion 7
“No steer 1s a navigation.” (Q}
Some controls are drives, L
No drive is a navigation.
1+E = O - type of Conclusion
“Some controls are not naviga-
tions.” (R)

75. {4} Venn diagrams of Conclu-
sion (P} :




jagram Ji contradicts the

conclusion L
Ongy peither Conclusion I nor I fol-
L pows.
- m [7“0] :
Ln,
)nﬁu‘
Tok,,
siop
" 76.(2) Ksits between O and Pwhen
counted frorn the left of O,
77.(5) Except L, all others face
opposite to the centre.

78.(3) J faces opposite to the cen-
tre. L sits second to the left of J.
79, (4) N faces opposite to the cen-
tre. K sits third to the left of N.
80. (1)L, M and O face the cenire.
81. (3) Second word from the left
= BUD
Its first letter is ‘B’
Pirst word from the right =
AM )
Its second letter is 1.

[ElcpEFaGH[]

82, (1) SLY = LSY
BUD = BDU

@

fon

lu

DYE = CXF' R
AM=RBIL C
84, (4)SLY = TLY P
BUD = cUD :
MET => NET ‘
DYE = EYE
- AIM = BiM
« (S)SLY - B
DYE -5 A D — MET —
AIM — BUD o
S Soy DYE — MET
{868-80) :

Bay Person | Destination
Monday | J. | Lucknow
Tuesday | N Dethi
Wednesday| P. Chandigarh|
Thursday | M Mtunbal
Friday O | Chennal
Saturday | K Ahmedabad
Sunday | L Pune,

886. (3) K flies to Ahmedabad an
Saturday.

87. (1)J flies to Lucknow on Mon-
day.

88. (5) N has his flight on Tuesday.

89. (4) K flies hetween O and L.

90. (2) Two persons — O and K -
have their flights between the
flights to Mumbai and Pune.

91.{2)D>E>P>L<H
ReN<L
DPzE>P>LxN>R
R<N<«L<H
Conclusions
I. N>D: NotTrue
I. H>R: Tre
{92-93) :
S=HgJ<K=L
H>N<B
D2L
B>N<S=HgJ<K=L
S=H<J<K=LsD
92. (1) Conclusions
L N<L:!True
H. K=58:NoTrue
93. (3) Conclusions
I. S=D: NotTrue
II. D> S: Not True
S is either smaller then or
equal to D. Therefore. either
Coriclusion I or Conclusion 1L

'M.(ﬁBzzc:xsd:;

"Y<B2ZeXeQ %
nn .

. L =g :NotTrue

. fi, L> @ : Not True

95.15)C>D2F

Re<M<F

C>DzF>M>R

Conclusions

. C>M:True

I, R<D:True

{98-100) :

Floor Numher

+
N
3

i

<exc4amn§

| 0] 2 [ || R} 3] 0

96. (2) Z lives on floor number B.

T lives on one of the floors

above W's floor.

Seven persons live above V's

floor.

97. (8) T lives on floor number &.

88. {3) Z lives on iloor number B.

B9. (4) Except in the pair T W, In
all others there is only one per-
son between the given two per-
sans.

100, [1)X lives immediately below
U's floor. :

|

(On-line Shopping)
BOOKS AND MAGAZINES
o Kiran rakashan

Get books
and magazines of
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at your doorstep easily,
log on our website :
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